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SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

A person saves 3331% of his income. If the saving increases by 22% and the
expenditure increases by 10%,then the percentage increase in his income Is:

Ueh eI 34t|7rﬁ31'rzra:r3331% STl ST & | Tfe STEd H 22% sl ge o 81 =it 3R T &

10% T J&f&r &1 ST, a1 38T 31T H fehcel TfALrd &1 Jef g5 2
[SSC CGL MAINS 2020 : 3 FEB 2022]

(b)14% Gt

(c)16%
(d)22%
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The average of n numbers is 45. If 60% the numbers are increased by 5 eaclhfand

the remaining numbers are decreased by 10 each, then what is the average of the
numbers so obtained?

n TEAT3N T 3T 45 g1 TTe 60% TEAT H I Icdeh H 5 I &A1 J10 3R AV JE&IT3it
H O 9cdh H H 10 geT foiar ST, df 38 YohR Yied AT &l A d 4T gI9T?
[SSC CGL MAINS 2020 : 3 FEB 2022]

(b)a3
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I\/leture A contains chocolate and milk in the ratio 4:3 and mixture B contalns
chocolate and milk in the ratio 5:2. A and B are taken in the ratio 5:6 and mixed to
form a new mixture. The percentage of chocolate in the new mixture is closest to:

fRAOT A & FTehele 3R qY FT AU 4:3 § R TH40T B # ATehele 3R g4 FT U1 5:2
g1 A 3R B %1 5:6 & T 7 FACTH U 71T TA40T Fo11am 913m| 7€ fAsror 7 =ierele &1
fcTRIcT SIaTS7aT F1:

[SSC CGL MAINS 2020 : 3 FEB 2022]

- 01:00

(b) 69%
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A Iady sold an article for Rs. 960 at some profit. Had she sold it for Rs. 800, :then

there would have been a loss Eequal to of the initial profit. What was the profit
percentage of the article?

U AfGAT A Tk a1 FS o187 W 960 A =T A IHA I HY T800 H =T AT, oY

ﬁﬁaﬁwﬂ:ga:mgﬁgéa?ﬁlaﬁmmaﬁamwm?
[SSC CGL MAINS 2020 : 3 FEB 2022]

(b) 50/7 %
(c) 10/7 %

(d)100/ 7 % G
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Plpes A, B and C can fill atank in 20, 30 and 60 hours, respectively. Pipes A“ B
and C are opened at 7 a.m., 8 a.m., and 9 a.m., respectively, on the same day.
When will the tank be full?

919 A, B 3T C frdY &Y &Y haAer: 20, 30 3R 60 6 H SR TFd &1 ST A, B 3 C H
U 1 et gaag eren: 7 991, 8 99t 3R 9 I @t arAm| oy foheret o g e W 4N
SITEIT? [SSC CGL MAINS 2020 : 3 FEB 2022]

onio il 01:00
(b)5:40 p.m. «

(c)6:20 p.m.
(d)7:20 p.m.
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The ratio of the investments of A and B in a business is 7:5, and the ratio of ‘t‘helr
profits at the end of ayear is 2:5. If A invested the money for 6 months, then for
how much time (in months) has B invested his money ?

forelt SATIR 7 A 3R B & fovaer &7 3reara 7:5 8, 3R a¥ & 31 7 3T o187 &7 9T 2:5
g1 IfE A o 379elt 4Ry &1 fAaer 6 AAT F fow B or, at B & 3r9sit e=ifr &1 fAder
frdsit rafer (FAgA A) & e har a7 ?

[SSC CGL MAINS 2020 : 3 FEB 2022]
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Asum of ¥50,250 is divided into two parts such that the simple interest on th‘e

first part for 7 Eyears at 8 3 Lo p.a.is E times the simple interest on the second

part for 5 iyears at 8% p.a. What is the difference (in ¥) between the two parts?

250,250 T TTA T & 1N H 59 YohR AT fohaT ST & o6 Igel 31191 UX 7% ay &l

HTITROT TS 8 3 % Sfel a9 T &X & 8% el a¥ HT G A 5 5 auf & foIw g a7maT
FTEMRUT &4 T 5/2 T[T &1 [SSC CGL MAINS 2020 : 3 FEB 2022

(a)10,275
(b)12,750 Gt
. 01:00

(d)15,270
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The sum of the digits of the least number which when divided by 36, 72, 80 a and
88 leaves the remainders 16, 52, 60 and 68, respectively, Is:

IH BT G&IT b 37T T J1eT o1 36, 72, 80 3iR 88 T fAHTToId hiet I AT UTed
gIT & el 16, 52, 60 37X 68 &: [SSC CGL MAINS 2020 : 3 FEB 2022]

(a)17
(b)11

(c)14
(d)16 « m




